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A.1.1 autocalc

oboobooboboobbooboobboobboobboon
OO000DO0DO00000OO0Oselect0O0000ODOODOOOOO

require ’mseld’

autocalc = 10 #<---calc times

path = Dir.pwd

puts ’START’
for i in O..autocalc-1

$length = 1000

$height = 600

$solventwidth = 20

$feedlimit = $height/3
$seedlimit = $height/10
$feedfront = []

$seedfront = []

center = $length/2

width = $solventwidth/2
front_move = (center-width-1)/2
$feedfront
$seedfront
$time = 10000

[0, center+width-front_move]

[0, center-width-1-front_movel]
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$select = 1000+100%*1i

dir_name = "len"+$length.to_s+"_hei"+$height.to_s+"_sol"
+$solventwidth.to_s+"_select"+$select.to_s+"_feedlimit"
+$feedlimit.to_s+"_seedlimit"+$seedlimit.to_s

#dir_name = ’sample’

Dir.chdir(path)
Dir.mkdir (dir_name)
ARGV [0]=dir_name

puts
puts ’mse ---> ’+ARGV[0]
mse ()

end
puts ’END’

A.1.2 mse

gobobboobobboouoooooobbbbbboooooooon
gobobbbbodoodgoooobobbbiooooooooobobooo
gbooboogon

def mse

t0 = Time.now
tmsO = Process.times

Dir.chdir("all_def")

require ’make_cell’

require ’checkConcentration’
require ’atomswap’

require ’trymove’

require ’Detach’
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require ’Attach’
Dir.chdir("..")

$array2 = make_cell($height,$length,$seedfront[1]+1,$feedfront[1]-1)
$concentration = []

$lconcentration = make_nm_array($time+2,$length)

$solute = []

$solvent = []

$time2 = 0

$pathl = Dir.pwd

$flag_Attach = 0

first_front = make_nm_array(2,2)

solute_ave = 0

first_front[0] [0] = $seedfront [0]
first_front[0] [1] = $seedfront[1]
first_front[1] [0] = $feedfront[0]
first_front[1][1] = $feedfront[1]
#t--------------------------------—-—-————— - — - k main

checkConcentration(0)

#print_front ()
#print_matrix()
count0()

kk = 0
Dir.chdir(ARGV([0]) #OUOD pathODOOODOOOODOOODOO
(ARGV[0]) O OO
for mse in 0..$time
if ($solute.length<$select)
feedDetach()
seedDetach()

solutehead = 0O
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while(solutehead<$solute.length)
solutehead += trymove(solutehead)
end

else

solute_array = []
for solutehead in 0..$solute.length-1
solute_array.push solutehead

end

flag = 0

while(flag!=1)
feedDetach()
seedDetach ()

$select.times do
if (solute_array.length>0)
n = rand(solute_array.length)

trymove (solute_array[n])
#checkConcentration(0)

if ($flag_Attach==0)
solute_array.delete_at(n)
else
solute_array.pop
$flag_Attach = 0
end
else
flag = 1
end
end
end
end
#checkConcentration(mse+1)
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solute_ave += $solute.length

if ((mse % 100) == 0)
checkConcentration(mse+1)
puts ’check’+mse.to_s
if (kk<10)

number = ’00’+kk.to_s
elsif (kk>=10 && kk<100)

number = ’0’+kk.to_s
else

number = kk.to_s

end
filenamel = []
filenamel = ’res’ + number + ’.txt’

File.open filenamel,’w’ do |f|
f.write O.to_s + ’> ’ + $concentration[0].to_s + "\n"

end

for i in 1..$length-1
File.open filenamel,’a’ do |f]|
f.write i.to_s + ’ ’ + $concentration[i].to_s + "\n"
end
end
kk += 1
end
$time2 = kk - 1

end

#puts

#print_front ()

#print_matrix()

count0()

puts ’solute_average = ’+(solute_ave/$time).to_s
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batch_name = ’res’
filename = ’anime.gpl’
anime_range = ’set xrange [0:’ + $length.to_s + ’]’ + "\n" +
’set yrange [-1:’ + ($height + 10 ).to_s + ’]’ + "\n"
#Dir.chdir("data")

File.open filename,’w’ do |f]|
f.write anime_range
end

for i in 0..$time2

if (i<10)
number = ’00’+i.to_s
elsif (i>=10 && i<100)
number = ’0’+i.to_s
else

number = i.to_s
end
File.open filename,’a’ do |f|
f.write ’plot \’’ + batch_name + number + ’.txt\’ w 1’ + "\n"
+ ’pause 1’ + "\n"
end

end

tl = Time.now

tmsl = Process.times

puts > 000 = ’+(t1-t0).to_s

puts ’CPUL 0 = ’+(tmsl.utime-tmsO.utime).to_s

filename_contents = ’contents.txt’

contents_array = []
contents_array.push ’Detach’+"\n"

contents_array.push Time.new

contents_array.push "\n"
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contents_array.push "\n"
contents_array.push ’length = ’+$length.to_s+"\n"
contents_array.push ’height = ’+$height.to_s+"\n"

contents_array.push ’solventwidth = ’+$solventwidth.to_s+"\n"
contents_array.push ’time = ’+$time.to_s+"\n"
contents_array.push ’select = ’+$select.to_s+"\n"

contents_array.push "\n"

contents_array.push ’seedlimit = ’+$seedlimit.to_s+"\n"
’+$feedlimit.to_s+"\n"
contents_array.push ’feedlimit/seedlimit = °’
+($feedlimit/$seedlimit) .to_s+"\n"
contents_array.push ’seedfront] [
+"\n"

contents_array.push ’feedfront] [
+"\n"

contents_array.push ’seedfront(] [
+"\n"

contents_array.push ’feedfrontU [
r4n \nll

contents_array.push "\n"

contents_array.push ’feedlimit

[’+first_front[0].join(’,?)+’]"

[’+first_front[1].join(’,?)+’]"

[’+$seedfront.join(’,’)+’]’

[’+$feedfront.join(’,’)+’]

contents_array.push ’seed 0[] =~

+($seedfront [1]-first_front [0] [1]).to_s+"\n"
contents_array.push ’feed 00 =~
+($feedfront[1]-first_front[1][1]).to_s+"\n"
contents_array.push "\n"

contents_array.push ’after_solventwidth = ’

+($feedfront [1]-$seedfront[1]) .to_s+"\n"

contents_array.push ’solute_average = ’+(solute_ave/$time).to_s+"\n"
contents_array.push ’soluted [0 = ’+($solute.length).to_s+"\n"
contents_array.push "\n"

contents_array.push * OO0 = ’+(t1-t0).to_s
contents_array.push "\n"

contents_array.push ’CPULO0 = ’+(tmsl.utime-tmsO.utime).to_s
contents_array.push "\n"
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File.open filename_contents,’w’ do |f|
f.write 7’

end

File.open filename_contents,’a’ do |f|
f.write contents_array

end

end

A.1.3 makecell

0000000000nx mO00000000000000000
0 (feed)0 00 (seed) 0 10000000000000

def make_nm_array(n,m)
(0...n).map {Array.new(m)}
end

def make_cell(height,length,seedfront,feedfront)
array = make_nm_array(height,length)
for i in 0. .height-1
for j in 0..length-1
if (j<seedfront || j>feedfront)
array[i] [j] =1
else
array[i] [j] = O
end
end
end
return array
end

def print_matrix
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for i in 0..$height-1
print $array2[i]
puts
end
end

def countO
count = 0
for i in 0..$height-1
for j in 0..$length-1
if ($array2[i] [j1==0)
count += 1
end
end
end
puts 0 = ’+count.to_s
end

def print_front

puts ’feedfront = ’+$feedfront.join(’,’)
puts ’seedfront = ’+$seedfront.join(’,’)

end

def make_solvent
$solvent = []
for i in 0..%height-1
for j in $seedfront[1]+2..$feedfront[1]-2
if ($array2[i] [j1==0)
$solvent.push [i,j]
end
end
end

end
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A.1.4 Detach

gbobogoboobobbogbuooobbuooobboobbobboo
gbobobuoooobboooobbbooooboo

feedDetachl] Detach O OO QOO OO
0000000 odooooooooo

def feedDetach

ix = $feedfront [0]
iy = $feedfront[1]
jx = ix

jy =iy - 1

if ($array2[jx] [jyl==0 && $concentration[$feedfront[1]-1]<$feedlimit)
$solute.push [jx,]jy]
atomswap ($solute.length-1,ix,1iy, jx,jy)
$feedfront[0] += 1

if ($feedfront [0]>$height-1)
$feedfront[0] = O
$feedfront[1] += 1
end
end
end

feedDerachOOQOQOQOO0O0O0O0O0O

gobobbobbuoogooooobobboobbboodoooood
gobooo

def interface_check(y)
$interface = []
for i in 0..$height-1
if ($array2[i] [y]==0)
$interface.push i
end
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end
end

def detach_check(jx,jy,limit)
interface_check(jy)

if (($height-$interface.length)>limit)
return O
else
return detach_serch(jx,jy,$interface)
end
end

def detach_serch(jx,jy,interface)
temp = ($height*$height)
for i in O..interface.length-1
a=( (interfacel[il-jx)*(interface[i]l-jx) )
if (temp>a)
temp = a
$new_jx = interfacel[i]
end
end
return 1
end

def feedDetach

ix = $feedfront[0]
iy = $feedfront[1]
jx = ix

jy =iy - 1

if ($array2[jx] [jyl==0 && $concentration[$feedfront[1]-1]<$feedlimit)
$solute.push [jx,jy]
atomswap($solute.length-1,ix,1iy, jx, jy)
$feedfront[0] += 1

if ($feedfront [0] >$height-1)
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$feedfront[0] = O
$feedfront[1] += 1
end
end
end

seedDetach
seed (0000000 DOOO0OOOODODOOOO

def seedDetach

ix = $seedfront [0]
iy = $seedfront[1]
jx = ix

jy =iy + 1

if ($array2[jx] [jyl==0 && $concentration[$seedfront[1]+1]<$seedlimit)
$solute.push [jx,jy]
atomswap ($solute.length-1,ix,1iy, jx,jy)
$seedfront[0] += 1

if ($seedfront [0]>$height-1)
$seedfront[0] = O
$seedfront[1] -= 1
end
end
end

A.1.5 Attach

gbbbuooobbbooobbbuoooobood

feed Attach

feed DODOOO0OODOODODOOOOODOODODO
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def feedAttach(iatom,ix,iy,jx,jy)
if ($array2[jx] [jyl==0 && $concentration[$feedfront[1]-1]>$feedlimit)
wardenX = $feedfront[0]-1
wardenY = $feedfront[1]
if (wardenX<0)
wardenX = $height-1
wardenY += 1
end

if ($array2[wardenX] [wardenY]==1)
escape_serch(wardenX,wardenY)
puts ’feed_escape’
puts

end

$solute.delete_at(iatom)
$flag _Attach = 1
$array2[ix] [iy] = O
$feedfront[0] -= 1
if ($feedfront [0]<0)
$feedfront[0] = $height-1
$feedfront[1] -= 1
end
$array2[$feedfront [0]] [$feedfront[1]] = 1
return O
end
return 1
end

seed Attach

seedd0000000ODO0OO0OOOOOODOODOO

def seedAttach(iatom,ix,iy,jx,jy)
if ($concentration[$seedfront[1]+1]>$seedlimit)
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wardenX = $seedfront[0]-1
wardenY = $seedfront[1]
if (wardenX<0)

wardenX = $height-1
wardenY += 1
end

if ($array2[wardenX] [wardenY]==1)
escape_serch(wardenX,wardenY)
puts ’seed_escape’
puts

end

$solute.delete_at(iatom)
$flag _Attach = 1
$array2[ix] [iy] = O
$seedfront[0] -= 1
if ($seedfront [0]<0)
$seedfront[0] = $height-1
$seedfront[1] += 1
end
$array2[$seedfront [0]] [$seedfront[1]] = 1
return 0O
end
return 1
end

A.1.6 escape

def escape(solutehead,wardenX,wardenY)
temp = ($height*$height)+($solventwidth*$solventwidth)
for serch in 0..$solvent.length-1
a=( ($solvent[serch] [0]-wardenX)*($solvent [serch] [0]-wardenX) )
b=( ($solvent[serch] [1]-wardenY)*($solvent [serch] [1]-wardenY) )
c = atb
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if (temp>c)
temp = ¢
x = $solvent[serch] [0]
y = $solvent [serch] [1]
end
end

puts ’from = ’+$solute[solutehead].join(’,’)
#atomswap (solutehead,wardenX,wardenY,x,y)
$solute[solutehead] [0] = x
$solute[solutehead] [1] =y

puts ’ to = ’+3solute[solutehead].join(’,’)

end

def escape_serch(wardenX,wardenY)
for serch in 0..$solute.length-1
if ($solute[serch] [0]==wardenX && $solute[serch] [1]==wardenY)
make_solvent ()
escape (serch,wardenX,wardenY)
end
end
end

A.1.7 Atomswap

gobbbooboboboouoooooobbbobbbuoooooooon
gooboooooboood

def atomswap(iatom,ix,iy,jx,jy)
$array2[ix] [iy] = 0
$array2[jx] [yl 1
$solute[iatom] [0] = jx
$solutel[iatom] [1] = jy

end
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A.1.8 checkConcentration

gbooboooobboboolbbbooooboboooon

def checkConcentration (num)
$concentration = []
for iy in 0..$length-1
concent_sum = 0
for ix in 0..$height-1
if ($array2[ix] [iy]==1)
concent_sum += 1
end
end
$concentration.push concent_sum
$1concentration[num] .push concent_sum.to_s + ’ ’
end
end

A.2 SiCOOOOO

A.2.1 vectordate3C

c-SiCO0pboobobobooooboobooboboooobooo

Primitive vectors

a(l1) = 4.36 0.00000000 0.00000000
a(2) = 0.00000000 0.00000000 4.36
a(3) = 0.00000000 4.36 0.00000000

Volume = 82.87874525

Reciprocal vectors
b(1) 0.32462157 -0.18742035 0.00000000
b(2) 0.32462157 0.18742035 0.00000000
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b(3)

0.00000000 0.00000000 0.09915913

Basis Vectors:8

Atom Lattice Coordinates

Si 0.256 0.25 0.25

Si 0.75 0.25 0.75

C 0.00000000 0.00000000 0.00000000
C 0.50000000 0.00000000 0.50000000
Si 0.75 0.75 0.25

Si 0.256 0.75 0.75

C 0.50000000 0.50000000 0.00000000
C 0.00000000 0.50000000 0.50000000

Cartesian Coordinates

Si  0.00000000 0.00000000
Si  0.00000000 0.00000000
C 0.00000000 0.00000000
C 0.00000000 0.00000000

0.00000000

5.04240000
1.89090000
6.93330000

Si
Si
C
C

1.54025500 0.88926664
1.54025500 -0.88926664
1.54025500 0.88926664 4.41033516
1.54025500 -0.88926664 9.45273516

2.51943516
7.56183516

A.2.2 vectordatedH

Primitive vectors

1.54025500 -2.66779992 0.00000000
1.54025500 2.66779992 0.00000000
0.00000000 0.00000000 10.08480000

a(l)
a(2)
a(3)

Volum

e

82.87874525
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Reciprocal vectors

b(1) = 0.32462157 -0.18742035 0.00000000

b(2) = 0.32462157 0.18742035 0.00000000

b(3) = 0.00000000 0.00000000 0.09915913

Basis Vectors:

Atom Lattice Coordinates

Si 0.00000000 0.00000000 0.00000000

Si  0.00000000 0.00000000 0.50000000

C 0.00000000 0.00000000 0.18750000

C 0.00000000 0.00000000 0.68750000

Si 0.33333333 0.66666667 0.24982500

Si 0.66666667 0.33333333 0.74982500

C 0.33333333 0.66666667 0.43732500

C 0.66666667 0.33333333 0.93732500

Cartesian Coordinates

Si  0.00000000 0.00000000 0.00000000

Si 0.00000000 0.00000000 5.04240000

C 0.00000000 0.00000000 1.89090000

C 0.00000000 0.00000000 6.93330000

Si  1.54025500 0.88926664 2.51943516

Si 1.54025500 -0.88926664 7.56183516

C 1.54025500 0.88926664 4.41033516

C 1.54025500 -0.88926664 9.45273516
A.2.3 vectordate6H

cH-SiCOOO0DO00OO00OO0DOO0boobooooooboboon
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Primitive vectors

a(l) = 1.54035000 -2.66796446 .00000000
a(2) = 1.54035000 2.66796446 .00000000
a(3) = .00000000 .00000000 15.11740000
Volume = 124.25290558

Reciprocal vectors

b(1) = .32460155 -.18740879 .00000000
b(2) = .32460155 .18740879 -.00000000
b(3) = -.00000000 .00000000 .06614894
Basis Vectors:12

Atom Lattice Coordinates

C .00000000 .00000000 .12540000

C .00000000 .00000000 .62540000

Si .00000000 .00000000 .00000000

Si .00000000 .00000000 .50000000

C .33333333 .66666667 .79190000

C .66666667 .33333333 .29190000

C .33333333 .66666667 .45840000

C .66666667 .33333333 -.04160000

Si .33333333 .66666667 .66670000

Si .66666667 .33333333 .16670000

Si .33333333 .66666667 .33320000

Si .66666667 .33333333 -.16680000
Cartesian Coordinates

C .00000000 .00000000 1.89572196

C .00000000 .00000000 9.45442196

Si .00000000 .00000000 .00000000
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Si  .00000000 .00000000 7.55870000

C 1.54035000 .88932149 11.97146906
C 1.54035000 -.88932149 4.41276906
C 1.54035000 .88932149 6.92981616
C 1.54035000 -.88932149 -.62888384
Si  1.54035000 .88932149 10.07877058
Si 1.54035000 -.88932149 2.52007058
Si 1.54035000 .88932149 5.03711768

Si 1.54035000 -.88932149 -2.52158232

A.2.4 input vector data,make primitive vector

gooobooobbbooobobboodnnDdprimitive vector [
gbobobooogobobod

include Math
require ’yaml’
require ’pp’

require "matrix"

def input(vec_data)
$y_vec_data = vec_data
if (vec_data==’3c’)
input_3c(vec_data)
else
input_4h_6h(vec_data)
end
end
def input_3c(vec_data)
Dir.chdir("data"){

infile = File.read("vector_data_3c")

p_vec=[]
for i in 0..2 do
pl = infile.grep(/a.*$/) [i].split(/=/) [1].chomp.split(/ +/)
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p_vec.push Vector[p1[1].to_f,p1[2].to_f,p1[3].to_f]
end

numl=infile.grep(/Basis Vectors.*$/) [0].split(/:/)[1].to_1i/2

si_ball=[]
for i in 0. .numl-1 do

pl=infile.grep(/Si /) [il.split(/ +/)

si_ball.push Vector[pi([1l].to_f,p1[3].to_f,p1[2].to_f]
end

c_ball=[]
for i in 0. .numl-1 do

pl=infile.grep(/C /) [il.split(/ +/)

c_ball.push Vector[p1[1].to_f,p1[3].to_f,pl1[2].to_f]
end

ballo=[]

element=[]

for i in O0..numl-1 do
ball0.push si_balll[i]
element.push O
ballO.push c_ball[i]
element.push 1

end

ballE=element

unitcellE=element

balll=[]

unitcell=[]

for i in 0..ballO.size-1 do
balll.push p_vec[0]*ballO[i] [O]

+p_vec[2]*ballO[i] [1]+p_vec[1]*ball0[i] [2]
unitcell.push p_vec[0]*ball0O[i] [0]
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+p_vec[2]*ball0[i] [1]+p_vec[1]*ballO[i] [2]
end

return balll,ballE,unitcell,unitcellE,p_vec
}

end

def input_4h_6h(vec_data)
Dir.chdir("data"){

if (vec_data==’4h’)

infile = File.read("vector_data_4h")
elsif (vec_data==’6h’)

infile = File.read("vector_data_6h")

end

p_vec=[]

for i in 0..2 do
pl = infile.grep(/a.*$/) [i].split(/=/) [1].chomp.split(/ +/)
p_vec.push Vector[p1[1].to_f,p1[3].to_f,p1[2].to_f]

end

numl=infile.grep(/Basis Vectors.*$/) [0] .split(/:/)[1].to_i/2

si_ball=[]
for i in O0..numl-1 do

pl=infile.grep(/Si /) [i].split(/ +/)

si_ball.push Vector[pi[1l].to_f,p1[3].to_f,pl1[2].to_f]
end

c_ball=[]
for i in O0..numl-1 do

pl=infile.grep(/C /) [il.split(/ +/)

c_ball.push Vector([p1[1].to_f,p1[3].to_f,p1[2].to_f]
end
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ballO=[]
element=1[]

for i in 0. .numl-1 do
ball0.push si_ball[i]
element.push O
ball0.push c_ball[i]
element.push 1

end

ballE=element
unitcellE=element
balli=[]
unitcell=[]
for i in 0..ball0.size-1 do
balll.push p_vec[0]*ballO[i] [0]
+p_vec[2]*ball0[i] [1]+p_vec[1]*ballO[i] [2]
unitcell.push p_vec[0]*ballO[i] [0]
+p_vec[2]*ball0[i] [1]+p_vec[1]*ballO[i] [2]
end

return balll,ballE,unitcell,unitcellE,p_vec
}
end
def input_nucleus(vec_data)
Dir.chdir("data"){
if (vec_data==’bcc’)
infile = File.read("vector_data_nucleus_bcc")
end
p_vec=[]
for i in 0..2 do
pl = infile.grep(/a.*$/) [i].split(/=/) [1].chomp.split(/ +/)
p_vec.push Vector[p1[1].to_f,p1[3].to_f,p1[2].to_f]
end
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numl=infile.grep(/Basis Vectors.*$/) [0].split(/:/) [1].to_i/2

atoml=[]
for i in O..numl-1 do
pl=infile.grep(/atoml /) [i].split(/ +/)
atoml.push Vector[pi[1].to_f,p1[3].to_f,p1[2].to_f]
end

atom2=]
for i in O..numl-1 do

pl=infile.grep(/atom2 /) [i].split(/ +/)

atom2.push Vector[p1[1].to_f,p1[3].to_f,p1[2].to_f]
end

ballO=[]
element=1[]

for i in O0..numl-1 do
ball0.push atoml[i]
ballO.push atom2[i]

end

atoml_ball=[]
atom2_ball=[]
unitcell=[]
for i in 0. .numl-1 do

atoml_ball.push p_vec[0]*atoml[i] [0]+p_vec[2]*atoml[i] [1]
+p_vec[1]*atoml [i] [2]

atom2_ball.push p_vec[0]*atom2[i] [0]+p_vec[2]*atom2[i] [1]
+p_vec[1]*atom2[i] [2]

unitcell.push p_vec[0]*atoml[i] [0]+p_vec[2]*atoml[i] [1]
+p_vec[1]*atoml [i] [2]

unitcell.push p_vec[0]*atom2[i] [0]+p_vec[2]*atom2[i] [1]
+p_vec[1]*atom2[i] [2]

end
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return atoml_ball,atom2_ball,unitcell,p_vec

by

end

A.2.5 makecell

MAYADOODOOOODODODODOOOOOOODODODOODOoDbOOoOOo
gbobboooobbobuoooobbobogao

include Math

$cell_ball_count = 0
$cell_cylinder_count = 0

def make_cell(filel,balll,ballE,colorl,color2,color3,namel,name?)

make_sphere_proc(filel,colorl,namel, [0.5,0.5,0.5])
make_sphere_proc(filel,color2,name2,[0.5,0.5,0.5])

filel
filel

for i in 0..balll.size-1 do
if (ballE[i]==0)
filel.printf ("make_%s (%7.5f,%7.5f,%7.5f) ;n",
namel,ball1[i] [0],ball1[i][1],ball1[i][2])
else
filel.printf ("make_%s(%7.5f,%7.5%,%7.5f) ;n",
name2,ball1[i] [0],ball1[i] [1],ball1[i] [2])
end
end

nmax=balll.size
comb_tmp=[]

for i in O..nmax-1 do
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for j in O0..nmax-1 do
tmp_vector=balll[i]-ball1l[j]

if tmp_vector.r < 2.0 && tmp_vector.r!=0 then
comb_tmp.push([i,j])
end
end
end
$cell_ball_count = balll.size
filel = make_cylinder_proc(filel,color3,[1,0.2,0.2])
filel = make_cylinder(filel,balll,comb_tmp)
return filel
end
def make_sphere_proc(filel,color,name,scale)
filel.printf("global proc make_%s(float $x,
float $y,float $z)n",name)
filel.printf("{n")
filel.printf ("sphere;n")
filel.printf("scale %7.5f %7.5f %7.5f;n",
scale[0] ,scale[1],scale[2])
filel.printf("move $x $y $z;n")
if(color!=1)
filel.printf("sets -e -forceElement lambert’dSG;n",color)
end
filel.printf("}n")
return filel
end
$cylinder_proc_count = 0
def make_cylinder_proc(filel,color,scale)
$cylinder_proc_count += 1
d = $cylinder_proc_count
filel.printf("global proc make_cylinder’%d(float $x,
float $y,float $z,float $b2,float $a2)n",d)
filel.printf ("{n")
filel.printf("cylinder;n")
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filel.printf("scale %7.5f %7.5f %7.5f;n",scale[0],scale[1],scale[2])
filel.printf("move $x $y $z;n")
filel.printf("rotate 0 $b2 $a2;n")
filel.printf("sets -e -forceElement lambert’dSG;n",color)
filel.printf("}n")
return filel
end
def make_cylinder(filel,balll,comb_tmp)
comb_tmp.each{|ij]l
half_v=(balli[ij[0]]+ball1[ij[1]1]1)*0.5
tmp=balll[ij[0]]-balll[ij[1]]
if tmp[1] < O then
dir_vec=balli[ij[1]]-balli[ij[0]]
else
dir_vec=balll[ij[0]]-balli[ij[1]]
end
x=dir_vec[0]
y=dir_vec[1]
z=dir_vec[2]
aa=1/sqrt (xx*2+y**2+z**2)
x1l=x*aa
yl=y*aa
zl=z*aa
bl=-asin(z1)
al=acos(x1/cos(bl))
a2=a1*180/PI
b2=b1*180/PI
filel.printf ("make_cylinder’%d(%7.5f,%7.5f,%7.5¢,%7.5f,%7.5£) ;n",
$cylinder_proc_count,half_v[0],half_v[1],half_v[2],b2,a2)
$cell_cylinder_count += 1
}
return filel

end

def make_cell_nucleus(filel,balll,color_ball,color_cylinder)
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filel = make_sphere_proc(filel,color_ball,’atom’,[0.8,0.8,0.8])

for i in 0. .balll.size-1 do
filel.printf ("make_atom(%7.5f,%7.5f,%7.5f);n",
balli[i] [0],ball1[i][1],ball1[i][2])
end

nmax=balll.size
comb_tmp=[]

for i in O0..nmax-1 do
for j in 0..nmax-1 do
tmp_vector=balll[i]-balll[j]

if tmp_vector.r < 4.5 && tmp_vector.r!=0 then
comb_tmp.push([i,j])
end
end
end
$cell_ball_count = balll.size
#filel = make_cylinder_proc(filel,color_cylinder, [2,0.3,0.3])
#filel = make_cylinder(filel,balll,comb_tmp)
return filel

end

A.2.6 color
MAYADOOOOOOOOOOOOOOOOoOooOooo

require ’pp’

$color_count=1

def color_add(filel,rgb)
cc = $color_count
#if (cc==1)
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# filel.printf("setAttr "lambertYd.color"
# -type double3 %1.5f %1.5f %1.5f;n",cc,rgb[0],rgb[1],rgb[2])
#else
filel.printf("shadingNode -asShader lambert;n")
filel.printf("sets -renderable true
-noSurfaceShader true -empty -name lambert’%dSG;n",cc)
filel.printf("connectAttr -f lambert}d.outColor
lambert?dSG.surfaceShader;n",cc,cc)
filel.printf("select -r lambertid;n",cc)
filel.printf("setAttr "lambert’d.color"
-type double3 %1.5f %1.5f %1.5f;n",cc,rgb[0],rgb[1],rgb[2])
#end
$color_count += 1
return filel,cc
end
def color_trans_add(filel,rgb,trgb)
cc = $color_count
if (cc==1)
filel.printf("setAttr "lambert)d.color"
-type double3 %1.5f %1.5f %1.5f;n",cc,rgb[0],rgb[1],rgb[2])
filel.printf("setAttr "lambert)d.transparency"
-type double3 %1.5f %1.5f %1.5f;n",cc,trgb[0],trgb[1],trgb[2])
else
filel.printf ("shadingNode -asShader lambert;n")
filel.printf("sets -renderable true -noSurfaceShader
true -empty -name lambert’dSG;n",cc)
filel.printf("connectAttr -f lambert}d.outColor
lambert?%dSG.surfaceShader;n",cc,cc)
filel.printf("select -r lambertid;n",cc)
filel.printf("setAttr "lambertd.color"
-type double3 %1.5f %1.5f %1.5f;n",cc,rgb[0],rgb[1],rgb[2])
filel.printf ("setAttr "lambert’d.transparency"
-type double3 %1.5f %1.5f %1.5f;n",cc,trgb[0],trgb[1],trgb[2])
end

$color_count += 1
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return filel,cc
end
def color_incan_add(filel,rgb,trgb)
cc = $color_count
if (cc==1)
filel.printf("setAttr "lambert’d.color"
-type double3 %1.5f %1.5f %1.5f;n",cc,rgb[0],rgb[1],rgb[2])
filel.printf("setAttr "lambert)d.transparency"
-type double3 %1.5f %1.5f %1.5f;n",cc,trgb[0],trgb[1],trgb[2])
else
filel.printf("shadingNode -asShader lambert;n")
filel.printf("sets -renderable true -noSurfaceShader
true -empty -name lambert’dSG;n",cc)
filel.printf("connectAttr -f lambertd.outColor
lambert?%dSG.surfaceShader;n",cc,cc)
filel.printf("select -r lambert%d;n",cc)
filel.printf("setAttr "lambert)d.color"
-type double3 %1.5f %1.5f %1.5f;n",cc,rgb[0],rgb[1],rgb[2])
filel.printf("setAttr "lambert)d.incandescence"
-type double3 %1.5f %1.5f %1.5f;n",cc,trgb[0],trgb[1],trgb[2])
end
$color_count += 1
return filel,cc

end

A.2.7 unitcell

gobbobbbodooooooobobbooddooooooon
gboboboogobbbuoood

include Math

require ’yaml’

require ’pp’

require "matrix"

def point_unitcell(balll,ballE,unitcell,unitcellE,p_vec,x,y,z,1)
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if ($y_vec_data==’3c’)
y_vec=Vector[0,4.36,0]
elsif ($y_vec_data==’4h’)
y_vec=Vector[0,10.08506484,0]
elsif ($y_vec_data==’6h’)
y_vec=Vector[0,15.11740000,0]
end
balll.push unitcell[i]+p_vec[0]*x+p_vec[1]*z+y_vecx*y
ballE.push unitcellE[i]
return balll,ballE
end
def unitcell_basis(balll,ballE,unitcell,unitcellE,p_vec,xyz)

unimax = unitcell.size

nl = xyz[0]
n2 = xyz[1]
n3 = xyz[2]

for x in -nl..nl1 do
for y in -n2..n2 do
for z in -n3..n3 do
for i in O..unimax-1 do
if x==0 && z==0 && y==0 then
else
balll,ballE=point_unitcell(balll,ballE,
unitcell,unitcellE,p_vec,x,y,z,1)
end
#if (i==0)
#balll,ballE=point_unitcell(balll,ballE,
unitcell,unitcellE,p_vec,x,y+1,z,1)
#end
end
end
end
end
return balll

end
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A3 0O0O0OO

A.3.1 manmO0O0O0O0

require 00 0000000000000 0OO0OO0O0O0OO0O0OO0O0DOO

include Math
require ’pp’

require "matrix"

Dir.chdir("1ib"){
require ’input’
require ’unitcell’
require ’color_add’
require ’make_cell’
require ’cell_support’
require ’currentTime’
require ’object’
require ’light’
require ’camera’

+

filenamel="maya_dislocation.mel"

balll,ballE,unitcell,unitcellE,p_vec = input(’4h’)

balll = unitcell_dislocation(balll,ballE,unitcell,
unitcellE,p_vec, [5,1,5])
balll = make_spiral(balll)

Dir.chdir("mel"){
filel = File.open(filenamel,"w")
filel,colorl = color_add(filel,[1,1,0]) #colorl = color_label
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filel,color2 = color_add(filel,[0.4,0.4,0.4])
filel,color3 = color_add(filel,[1,1,1])
filel,color4 = color_add(filel,[1,0,0])

filel = make_cell(filel,balll,ballE,colorl,color2,color3,’Si’,’C’)
filel.close

puts ’output >>> ’+filenamel

A.3.2 makespiral

primitive vector U 0 0D OO OO 0OOUOO0OODOOOO0OODOOOOO
gbobboogoobbbuooobbbouoooobbouoobbon

include Math
require ’yaml’
require ’pp’

require "matrix"

def unitcell_dislocation(balll,ballE,unitcell,unitcellE,p_vec,xyz)

unimax = unitcell.size

nl = xyz[0]
n2 = xyz[1]
n3 = xyz[2]

for x in -nl..nl1 do
for y in -n2..n2 do
for z in -n3..n3 do
for i in O..unimax-1 do
if x==0 && z==0 && y==0 then
else
balll,ballE=point_unitcell(balll,ballE,
unitcell,unitcellE,p_vec,x,y,z,1)
end
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if (i==0)
balll,ballE=point_unitcell(balll,ballE,
unitcell,unitcellE,p_vec,x,y+1,z,1)
end
end
end
end
end
return balll
end
def make_spiral(balll)
for i in 0..balll.length-1 do
len = balli[i].r
if (len!=0)
theta = asin(balli[i] [2]/1en)
theta = theta*(180/PI)
if(ball1[i] [01<0 && balli[i] [2]>=0)
theta = 180-theta
elsif(ball1[i] [0]<=0 && balli[i] [2]1<0)
theta = 180-theta
elsif(ball1[i] [0]>0 && ballil[i] [2]<=0)
theta = 360+theta
end
#add = (1-(theta/360)) #var continuous
#add = (1-(theta/360))*10.08506484 #var ball and stick
add = (theta/360)*10.08506484 #var ball and stick
balli[i] += Vector[0,add,0]
end

end
return balll
end
def make_spiral_var_test(balll)
for i in 0..balll.length-1 do
len = ballill[i].r
if (len!=0)
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theta = asin(balli[i] [2]/1en)
theta = theta*(180/PI)
if (ball1[i] [0]>0 && balll[i] [2]<0)
theta = 360+theta
add = (1-(theta/360))*5
balli[i] += Vector[0,add,0]
end

end
end
return balll
end
def make_spiral_6face(balll)
#pp balll
for i in 0..balll.length-1 do
if(ball1[i] [2]>=sqrt(3)*balll[i] [0] && balli[i] [2]<0)
balli[i] += Vector[0,1,0]
elsif(balll[i] [2]<sqrt(3)*balll[i] [0] && balli[i] [2]<=
-sqrt (3)*ball1[i] [0])
balli[i] += Vector[0,0.8,0]
elsif(balll1[i] [2]>-sqrt(3)*balll[i] [0] && balli([i] [2]<=0)
balli[i] += Vector[0,0.6,0]
elsif(ball1[i][2]>0 && balli[i] [2]1<sqrt(3)*balli[i] [0])
balli[i] += Vector[0,0.4,0]
elsif(balll[i] [2]1>sqrt(3)*balll[i] [0] && balli[i] [2]>=
-sqrt (3)*ball1[i] [0])
ball1l[i] += Vector[0,0.2,0]
end
end
return balll
end
def nucleus_cluster(atoml_ball,atom2_ball,p_vec)
balll = []
for i in O..atoml_ball.size-1
balll.push atoml_ball[i]
end
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for i in O..atoml_ball.size-1
balll.push atoml_ball[il]+p_vec[1]*1

end

for i in O0..atom2_ball.size-1
balll.push atom2_ball[i]

end

for i in 0..atom2_ball.size-1
balll.push atom2_ball[i]+p_vec[0]*(-1)

end

for i in O0..atom2_ball.size-1
balll.push atom2_ball[i]+p_vec[0]*(-1)+p_vec[2]*(-1)

end
return balll

end

def unitcell_nucleus(unitcell,p_vec,xyz)
balll = []
#balll.push unitcell
unimax = unitcell.size

nl = xyz[0]
n2 = xyz[1]
n3 = xyz[2]

for x in -nl..nl1 do
for y in —n2..n2 do
for z in -n3..n3 do
for i in O..unimax-1 do
#if x==0 && z==0 && y==0 then
#else
balll.push unitcell[i]+p_vec[0]*x+p_vec[1]*y+p_vec[2]*z
#end
end
end
end
end
return balll

end

91



A.4 Kossel model

A.4.1 terrace,step.kink
include Math require 'yaml’ require 'pp’ require "matrix”

def unitcell_terrace_step_kink(balll,ballE,unitcell,
unitcellE,p_vec,xyz)

y_vec=Vector[0,10.08506484,0]

unimax = unitcell.size

nl = xyz[0]
n2 = xyz[1]
n3 = xyz[2]

for x in -nl..nl1 do
for y in -n2..n2 do
for z in -n3..n3 do
for i in O..unimax-1 do
if x==0 && y==0 && z==0 then
else
balll,ballE=point_unitcell(balll,ballE,
unitcell,unitcellE,p_vec,x,y,z,1)
end
if (i==0)
balll,ballE=point_unitcell(balll,ballE,
unitcell,unitcellE,p_vec,x,y+1,z,1)
end
end
end
end
end

kk = 1
for p in -nl1-4..n1-4 do

for g in —n3..n3 do
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balll.push unitcell[i]+p_vec[0]*(p-1)+p_vec[1]*q+y_vecxkk
ballE.push unitcellE[i]

balll.push unitcell[i]+p_vec[0]*(p-1)+p_vec[1]*q+y_vecx*kk
ballE.push unitcellE[i]

balll.push unitcell[i]+p_vec[0]*p+p_vec[1]*q+y_vec*kk
ballE.push unitcellE[i]

balll.push unitcell[i]+p_vec[0]*p+p_vec[1]*q+y_vec*kk
ballE.push unitcellE[i]

end
end

return balll
end

A.4.2 nucleus

include Math

require ’yaml’

require ’pp’

require "matrix"

def nucleus_cluster(atoml_ball,atom2_ball,p_vec)

balll = []
for i in O..atoml_ball.size-1
balll.push atoml_ball[i]

end

for i in 0..atoml_ball.size-1
balll.push atoml_ball[i]+p_vec[1]*1

end
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for i in 0O..atom2_ball.size-1
balll.push atom2_ball[i]

end

for i in 0..atom2_ball.size-1
balll.push atom2_ball[i]+p_vec[0]*(-1)

end

for i in O..atom2_ball.size-1
balll.push atom2_ball[i]+p_vec[0]*(-1)+p_vec[2]*(-1)

end
return balll

end

def unitcell_nucleus(unitcell,p_vec,xyz)
balll = []
#balll.push unitcell
unimax = unitcell.size

nl = xyz[0]
n2 = xyz[1]
n3 = xyz[2]

for x in -nl..nl1 do
for y in -n2..n2 do
for z in -n3..n3 do
for i in O..unimax-1 do
#if x==0 && z==0 && y==0 then
#else
balll.push unitcell[i]+p_vec[0]*x+p_vec[1]*y+p_vec[2]*z
#end
end
end
end
end
return balll
end
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A5 MAYADOUOOOOOODODOoOOoOoGOoGOod

oooonnd

A.5.1 camera

$camera_count = 1

def camera_aim(filel,camera,aim,xyz,aim_xyz)

¢ = $camera_count

filel.printf("camera -centerOfInterest 5 -focalLength 35

-lensSqueezeRatio 1 -cameraScale 1 -horizontalFilmAperture
1.4173 -horizontalFilmOffset O -verticalFilmAperture 0.9449
-verticalFilmQOffset O -filmFit Fill -overscan 1 -motionBlur
0 —-shutterAngle 144 -nearClipPlane 0.01 -farClipPlane 1000
—-orthographic O -orthographicWidth 30;n")

filel.printf ("objectMoveCommand;n")

filel.printf ("cameraMakeNode 2 "";n")

filel.printf("setAttr
filel.printf("setAttr
filel.printf("setAttr
filel.printf("setAttr
,C,aim_xyz[0])
filel.printf("setAttr
,C,aim_xyz[1])
filel.printf("setAttr

,C,aim_xyz[2])

"cameraj,d.translateX" %7.5f;n",c,xyz[0])
"cameraj,d.translateY" %7.5f;n",c,xyz[1])
"cameraj,d.translateZ" %7.5f;n",c,xyz[2])
"camerayd_aim.translateX" %7.5f;n"

"camerayd_aim.translateY" %7.5f;n"

"camerayd_aim.translateZ" %7.5f;n"

filel.printf("select -r camerajd;n",c)

filel.printf("string $%s[] = ‘1ls -sl‘;n",camera)

filel.printf("select -r camera)d_aim;n",c)

filel.printf("string $%s[] = ‘1ls -sl‘;n",aim)

$camera_count += 1
return filel
end
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A.5.2 light

$light_count = 1

def ambientLight(filel,tmp,xyz,rxyz,sxyz)
c = $light_count
filel.printf("defaultAmbientLight(1,1,1,1,"0",0,0,0,0);n")
filel.printf("setAttr "ambientLight’d.translateX" %7.5f;n",c,xyz[0])
filel.printf("setAttr "ambientLight’d.translateY" %7.5f;n",c,xyz[1])
filel.printf("setAttr "ambientLight’d.translateZ" %7.5f;n",c,xyz[2])
filel.printf("setAttr "ambientLightld.rotateX" %7.5f;n",c,rxyz[0])
filel.printf("setAttr "ambientLight’d.rotateY" %7.5f;n",c,rxyz[1])
filel.printf("setAttr "ambientLightld.rotateZ" %7.5f;n",c,rxyz[2])
filel.printf("setAttr "ambientLightld.scaleX" %7.5f;n",c,sxyz[0])
filel.printf("setAttr "ambientLightld.scaleY" %7.5f;n",c,sxyz[1])
filel.printf("setAttr "ambientLightld.scaleZ" %7.5f;n",c,sxyz[2])
filel.printf("setAttr "ambientLightShape)d.intensity" %1.5f;n",c,tmp)
$light_count += 1
return filel

end

def derectionallight(filel,tmp,x,y,z,rX,ry,rz,sx,sy,sz)
c = $light_count
filel.printf("defaultDirectionallight(1,1,1,1,"0",0,0,0,0);n")
filel.printf("setAttr "directionallLight%d.translateX" %7.5f;n",

c,xyz[0])

filel.printf("setAttr "directionallLight%d.translateY" %7.5f;n",
c,xyz[1])

filel.printf("setAttr "directionallight’d.translateZ" %7.5f;n",
c,xyz[2])

filel.printf("setAttr "directionallLight’d.rotateX" %7.5f;n",c,
rxyz[0])

filel.printf("setAttr "directionallLight%d.rotateY" %7.5f;n",
c,rxyz[1])

filel.printf("setAttr "directionallLight%d.rotateZ" %7.5f;n",
c,rxyz[2])

filel.printf("setAttr "directionallLight%d.scaleX" %7.5f;",c,sxyz[0])
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filel.printf("setAttr "directionallLight%d.scaleY" %7.5f;",c,sxyz[1])
filel.printf("setAttr "directionallLight¥d.scaleZ" %7.5f;",c,sxyz[2])
filel.printf("setAttr "directionalLightShape’d.intensity"
%1.5f;n",c,tmp)
$light_count += 1
return filel

end

def pointLight(filel,tmp,x,y,z,rx,ry,rz,sXx,sy,sz)

c = $light_count
printf("defaultPointLight(1,1,1,1,"0",0,0,0,0);n")

filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.

printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr

$light_count += 1
return filel

end

"pointLight%d
"pointLightd
"pointLight%d
"pointLightd
"pointLight%d
"pointLightd
"pointLight%d
"pointLightd
"pointLight%d

.translateX" %7.5f;n",c,x)
.translateY" %7.5f;n",c,y)
.translateZ" %7.5f;n",c,z)
.rotateX" %7.5f;n",c,rx)
.rotateY" %7.5f;n",c,ry)
.rotatezZ" %7.5f;n",c,rz)
.scaleX" %7.5f;n",c,sx)
.scaleY" %7.5f;n",c,sy)

.scalezZ" %7.5f;n",c,sz)

"pointLightShape’d.intensity" %1.5f;n",c,tmp)

def spotLight(filel,tmp,x,y,z,rx,ry,rz,sx,sy,sz)

c = $light_count
printf ("defaultSpotLight(1,1,1,1,"0",0,0,0,0);n")

filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.

printf ("setAttr
printf("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr

"spotLight’d.
"spotLightd.
"spotLightd.
"spotLight’d.
"spotLight’d.
"spotLight’d.
"spotLight’d.
"spotLight’d.
"spotLight’d.
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translateX" %7.5f;n",c,xyz[0])
translateY" %7.5f;n",c,xyz[1])
translateZ" %7.5f;n",c,xyz[2])

rotateX" %7.5f;n",c,rxyz[0])
rotateY" %7.5f;n",c,rxyz[1])
rotatezZ" %7.5f;n",c,rxyz[2])
scaleX" %7.5f;n",c,sxyz[0])
scaleY" %7.5f;n",c,sxyz[1])

scaleZ" %7.5f;n",c,sxyz[2])



filel.printf("setAttr "spotLightShape’d.intensity" %1.5f;n",c,tmp)
$light_count += 1
return filel

end

def arealight(filel,tmp,x,y,z,rx,ry,rz,sx,sy,sz)

c = $light_count
printf("defaultArealight(1,1,1,1,"0",0,0,0,0);n")

filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.

printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr

$light_count += 1
return filel

end

"arealight)d.translateX" %7.5f;n",c,xyz[0])
"arealight’d.translateY" %7.5f;n",c,xyz[1])
"arealight)d.translateZ" %7.5f;n",c,xyz[2])
"arealightd.rotateX" %7.5f;n",c,rxyz[0])
"arealight)d.rotateY" %7.5f;n",c,rxyz[1])
"arealightd.rotateZ" %7.5f;n",c,rxyz[2])
"arealLightd.scaleX" %7.5f;n",c,sxyz[0])
"arealight’d.scaleY" %7.5f;n",c,sxyz[1])
"arealLight)d.scaleZ" %7.5f;n",c,sxyz[2])
"arealightShape/d.intensity" %1.5f;n",c,tmp)

def volumeLight(filel,tmp,x,y,z,rX,ry,rz,sx,sy,sz)

c = $light_count
printf("defaultVolumeLight(1,1,1,1,"0",0,0,0,0);n")

filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.
filel.

printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr
printf ("setAttr

$light_count += 1

return filel

"volumeLightd.translateX" %7.5f;n",c,xyz[0])
"volumeLight’d.translateY" %7.5f;n",c,xyz[1])
"volumeLight%d.translateZ" %7.5f;n",c,xyz[2])
"volumeLight’d.rotateX" 7%7.5f;n",c,rxyz[0])
"volumeLight%d.rotateY" %7.5f;n",c,rxyz[1])
"volumeLight’d.rotateZ" 7%7.5f;n",c,rxyz[2])
"volumeLight%d.scaleX" %7.5f;n",c,sxyz[0])
"volumeLight%d.scaleY" %7.5f;n",c,sxyz[1])
"volumeLightd.scaleZ" %7.5f;n",c,sxyz[2])
"volumeLightShape’d.intensity" %1.5f;n",c,tmp)
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end

A.5.3 currentTime

$currentTime_move_count = 1
def currentTime_move(filel,time,name,xyz)
if ($currentTime_move_count==1)
filel.printf("global proc make_current_
move (string $names[],int $c_time,float $tx,float $ty,float $tz)n")
filel.printf("{n")
filel.printf ("currentTime $c_time;n")
filel.printf("setAttr ($names[0] + ".tx") $tx;n")
filel.printf("setAttr ($names[0] + ".ty") $ty;n")
filel.printf("setAttr ($names[0] + ".tz") $tz;n")
filel.printf("setKeyframe -at "tx" $names[0];n")
filel.printf ("setKeyframe -at "ty" $names[0];n")
filel.printf("setKeyframe -at "tz" $names[0];n")
filel.printf("}In")
end
filel.printf ("make_current_move($%s,%d,%7.5f,%7.55,%7.5f) ;n"
,name, time,xyz[0] ,xyz[1],xyz[2])
$currentTime_move_count += 1
return filel
end

$currentTime_rotate_count = 1
def currentTime_rotate(filel,time,name,xyz)
if ($currentTime_rotate_count==1)

filel.printf("global proc make_current_rotate(string $names[],
int $c_time,float $tx,float $ty,float $tz)n")

filel.printf("{n")

filel.printf("currentTime $c_time;n")

filel.printf("setAttr ($names[0] + ".rx") $tx;n")

filel.printf("setAttr ($names[0] + ".ry") $ty;n")
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filel.printf("setAttr ($names[0] + ".rz") $tz;n")
filel.printf("setKeyframe -at "rx" $names[0];n")
filel.printf("setKeyframe -at "ry" $names[0];n")
filel.printf("setKeyframe -at "rz" $names[0];n")
filel.printf("}n")

end

filel.printf ("make_current_rotate($%s,%d,%7.5f,%7.5%f,%7.5f) ;n",

name, time,xyz[0] ,xyz[1],xyz[2])
$currentTime_rotate_count += 1
return filel

end

$currentTime_scale_count = 1
def currentTime_scale(filel,time,name,xyz)
if ($currentTime_scale_count==1)
filel.printf("global proc make_current_scale(string $names[],
int $c_time,float $tx,float $ty,float $tz)n")
filel.printf ("{n")
filel.printf("currentTime $c_time;n")
filel.printf("setAttr ($names[0] + ".sx") $tx;n")
filel.printf("setAttr ($names[0] + ".sy") $ty;n")
filel.printf("setAttr ($names[0] + ".sz") $tz;n")
filel.printf("setKeyframe -at "sx" $names[0];n")
filel.printf("setKeyframe -at "sy" $names[0];n")
filel.printf("setKeyframe -at "sz" $names[0];n")
filel.printf("}In")
end
filel.printf ("make_current_scale($%s,%d,%7.5f,%7.5f,%7.55) ;n",
name, time,xyz[0] ,xyz[1],xyz[2])
$currentTime_scale_count += 1
return filel
end

def currentTime_color_trans(filel,time,color,xyz)

filel.printf ("currentTime %d;n",time)
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filel.printf("select -r lambert’d;n",color)

filel.printf("setAttr "lambert)d.transparency" -type double3 ", color)

filel.printf (" %7.5f %7.5f %7.5f;n",xyz[0],xyz[1],xyz[2])

filel.printf("setKeyframe -breakdown O -hierarchy none
-controlPoints 0 -shape O {"lambert’d"};n",color)

return filel

end

A.5.4 object

$set_object_cube_count = 1
def set_object_cube(filel,color,move,scale,rotate)
c = $set_object_cube_count
if (c==1)
filel.printf("global proc make_cube")
filel.printf("(float $mx,float $my,float $mz,float $sx,
float $sy,float $sz,float $rx,float $ry,float $rz)n")
filel.printf ("{n")
filel.printf ("nurbsCube;n")
filel.printf("scale $sx $sy $sz;n")
filel.printf("move $mx $my $mz;n")
filel.printf("rotate $rx $ry $rz;n")
filel.printf("sets -e -forceElement lambert’dSG;n"
,color)
filel.printf("}n")
end
filel.printf ("make_cube(’%7.5f,%7.5f,%7.5f,%7.5%,
%7.5f,%7.5f,%7.5%,%7.5f,%7.5f) ;n" ,move [0] ,move[1] ,move[2],
scale[0] ,scale[1],scale[2] ,rotate[0] ,rotate[1] ,rotate[2])
$set_object_cube_count += 1
return filel
end

def object_add(filel,obj,name,color)
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filel
filel
filel

.printf ("string $%s[];n",name)
.printf ("$%s = ‘%s‘;n",name,obj)
.printf("sets -e -forceElement lambert}dSG;n",color)

return filel

end

A.5.5 cellsupport

gooboooobobbooobboboooobobod

def wire_frame(filel,p_vec,color)

filel

.printf ("global proc make_wireframe(float $x,

float $y,float $z,float $b2,float $a2,float $sa)n")

filel
filel
filel
filel
filel
filel
filel

.printf ("{n")

.printf("cylinder;n")

.printf("scale $sa 0.05 0.05;n")

.printf ("move $x $y $z;n")

.printf("rotate 0 $b2 $a2;n")

.printf("sets -e -forceElement lambert’dSG;n",color)
.printf ("In")

toga = [ Vector[0.0, 0.0, 0.0],

Vector [p_vec[0] [0],p_vec[0] [1],p_vec[0] [2]],
Vector [p_vec[1] [0] ,p_vec[1] [1],p_vec[1] [2]],
Vector [p_vec[2] [0],p_vec[2] [1],p_vec[2] [2]],
Vector [p_vec[0] [0]+p_vec[1] [0],

p_vec[0] [1]+p_vec[1][1],p_vec[0] [2]+p_vec[1][2]],

Vector [p_vec[0] [0]+p_vec[2] [0],

p_vec[0] [1]+p_vec[2] [1],p_vec[0] [2]+p_vec[2] [2]],

Vector[p_vec[1] [0]+p_vec[2] [0],

p_vec[1] [1]+p_vec[2] [1],p_vec[1] [2]+p_vec[2] [2]],

Vector [p_vec[0] [0]+p_vec[1] [0]+p_vec[2] [0],

p_vec[0] [1]1+p_vec[1] [1]1+p_vec[2] [1],
p_vec[0] [2]+p_vec[1] [2]+p_vec[2] [2]]]
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co = [[0,1],[0,2],([0,3],(1,4],[1,5],[2,4],
(2,6],[3,5],[3,6],0[4,7],[5,7],[6,7]]
for i in 0..co.length-1 do
half_v = (togalco[i] [0]]+togalco[i][1]])*0.5
tmp = togalco[i] [0]]-togalcol[i] [1]]
if tmp[1] < O then
dir_vec = tmpx*(-1)
else
dir_vec=tmp
end
x=dir_vec[0]
y=dir_vec[1]
z=dir_vec[2]
aa=1/sqrt (xx*2+y**2+z%*2)
x1l=x*aa
yl=y*aa
zl=z*aa
bl=-asin(z1)
al=acos(x1/cos(bl))
a2=al1*180/PI
b2=b1*180/PI
filel.printf ("make_wireframe(%7.5f,%7.5f,%7.5f,%7.5%,
%7.5f,%7.5f) ;n" ,half_v[0] ,half_vI[1],half_v[2],b2,a2,(1/aa)/2)
$cell_cylinder_count += 1
end
return filel

end
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